3. Write the system of equations for nodal analysis for the following circuit, including all non-reference nodes. Do not solve the system of equations.
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(All impedance values are in ohms)

4. Determine the Norton Equivalent for the part of circuit that connects to the load impedance.
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(All impedance values are in ohms)

5. For the series circuit below, determine the value of the impedance that will produce a resonance frequency of 10kHz. For the component values of the circuit at resonance, determine the total impedance presented to the source and the power delivered to the circuit from the source.
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6. Find the Thevenin equivalent for the part of circuit to the left of the load impedance ZL in the circuit below.
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(All impedance values are in ohms)

